Mathelpers
Multiplication by a Whole Number

The red kangaroo, the world’s largest marsupidl, uses its tail for balance when
jumping. Its tail is about 0.52 times as long as its body. Its body is about 2 meters
long. How long is its tail?

Make a model to show how to multiply 2 by 0.52.

What is 2 x 0.52?

STEP | STEP 2

Use hundredths models. Count the number of shaded
Shade 0.52, or 52 hundredths. hundredths. There are 104
Use a different color each time. shaded hundredths. This is

| whole and Y hundredths

So,2x352 =104

Examples:

A- Find the product.

)5S x0.76 2) 044 x 3 3)024x 6 4) 016 x 7
0.76 oM4 o.M 0l6
) x 3 x 6 x 7
380 132 44 112

You can use patterns to place the decimal point in a product.

Factors Products

| = 3

Ol = 03

0.0l =
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3xI=3 <— no decimal places in factors
3 x 01 = 0.3«<— one decimal place in factors

3 x 0.0l = 0.03 «— two decimal places in factors

The number of decimal places in the factors equals the number of decimal places in
the product.

STEP I: Multiply by the ones.

STEP 2: Multiply by the tens. 2|

2l
x 10
210
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Examples:
C- Use patterns to find the product.

5) 345 x 10 =345 6) 0529 x 10 = 529
345 x 100 = 345 0529 x 100 = 529
345 x 1000 = 3450 0.529 x 1000 = 529

My Readl Life

A an empty soda cup costs 0.35 dirhams. How much will 000 cup cost?

0.35 x 1000 = 350 dirhams.
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